| Efficiency vs Dxy |

0.2
<
S
.18
S

D

D.14

©
0.12

0.08
0.06
0.04
0.02

200

@16— """" S s s s

R

0
1

Ratio

0.9

0.8

SRR R

| Efficiency vs Dz |

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

=== DQM _VOUOUT_
—«— DQM_V0001_
—+— DQM_V0001_

RO0000000I__Global
R000000001__Global
R000000001_Global _CMSSW_LowptQnoSC_RECO

CMSSW_ckiPUS0__RECO

N 0.2
©
9.18
oy
e
(&)
.14
(D)
0.12
0.1F
0.08F
0.06:

—— DQM_V0001

R000000001__Global _CMSSW_LowptQnoDC_RECO

TP dz (cm)

CMSSW_mkFitPU50LowPtQuad__RECO




	Contents
	Page 1


